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Attempt any four Questions. Question No.1 is compulsory; attempt any three out of 

Question No.2 to Question No.6 

1) a) In a government expenditure multiplier if autonomous spending ¯A  is 1000, the 

marginal propensity to save is 0.25 and the marginal tax rate ‘t’ is 0.30, then what will be 

the equilibrium level of income?  

एक   क            क                 1000   ,        ब            0.25 औ              

       0.30             क                    ? 

b) How does an increase in the tax rate affect the IS curve? 

B     क  ब        क   क   IS     क         क      ? 

c) If the GDP deflator rises from 105 in one year to 112 the next, calculate the inflation 

rate between the two years. 

C                   क एक        105    112          ब      ,                        

    क   ए  

d) Can inflation tax be equal to Seignorage? 

D  क        क           क  ब  ब      क     ? 

e) What is Tanzi-Olivera effect?  (5X3) 

E                    क       ? 

2) A) Why are goods and services included in GDP at their market value? Are there any 

disadvantages in using market value to measure GDP?  (5+5+10) 
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2A     औ         क           क  ब                    क          ?  क            क  

ब                क       क          ? 

B) NVA fc = Rs. 7000Cr 

Depreciation = Rs. 500Cr 

Net Indirect Taxes = Rs. 150Cr 

Calculate GDP at Market Price 

B)  NVA fc = Rs. 7000Cr 

       = Rs. 500Cr 

          क = Rs. 150Cr 

ब                     क      क   ए 

3) A) What are the principle components of balance of payments? What is the role of 

official reserves to correct disequilibrium in balance of payment? 

3A               क  क           ?               क    क क    क    ए      ब       

    क      क      ? 

B) What is GDP deflator and how does it differ from consumer price index? 

         (10 +10) 

B)              क      ,     क   क         क        क          ? 

4) A) If the level of output is 1000 units, Money Supply 400 units and circulation of Money 

5. Calculate the price level in the economy. 

4A           क     1000  क     ,            400  क   औ       क       5,     

          क           क   ए  

B) Discuss the effects of expected and unexpected inflation in the economy. Suggest the 

suitable measures to check hyperinflation.   (10+10) 

B        औ                  क           क                     क          क    क  

          ए  
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5. A) Explain the determination of equilibrium rate of interest using the demand curve for central 

bank money and supply of central bank money. How does an increase in income and 

money supply affect equilibrium interest rate in this economy? 

5A क     ब क      क       औ            क        क     ए     क             क  

        क           क                           औ                      क      

               क         क      ? 

B) If Reserve Ratio 0.05, change in reserves $10 billion. Find out Money Multiplier and 

Money Supply in the economy. (10+10) 

B                  0.05                  10  ब            ,            क औ              

क       क  ए  

6.  A) What are the factors determine the slope of an IS curve? 

6A    ए     क       क         क         क  -क      क  क   ? 

B) Explain the concept of balanced budget multiplier. (10+10) 

B         ब      क क           क     
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